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EXercise-2.5-

Write down the sum and product of the roots of each of the following quadratic equations. '

@ xX+5x-6=0 b)) 2x*-9%x+5=0
() 4x*+7x~3=0 d) x(x-3)=x+4
() X+px—p=0 ) F-gx+g* =0 :
(g 27-3kx+k=0 (h) ax*~x(a+2)—a=0
Write down the quadratic equations whose sum and product of the roots are as follows. 7
o L 1 1
(@) 3,8 b) -2, % © 3.-3
2 - 2 a 1
(d) a,a e) -p+1),p-3 ) b b
If @ and B are the roots of the quadratic equation 2x* — 5x — [ = 0, find the values of
'y @ o, B 1,1 ]
(@ a+8 (b) 5" © —+ B |
If @ and B are the roots of the quadratic equation x> + 2x — 1 = 0, find the values of
@ o+p ®) (a+p? - @ (a-pr
If @ and B are the roots of the quadratic equation 2x* — 4x + 5 = 0, find the values of
1 1 1 1 1 i
+ b + +
(@) o+ 1 B+1 ®) 20+ 8  a+28 © o+ 1 g+ 1

Given that o and 8 are the roots of the quadratic equation x* — 3x + 5 = 0, find the quadratic
equation whose roots are

@ a-28-2 O & © o p @ (@=pLB-a)
The roots of the quadratic equation x* + 3x + 1 = 0 are « and 8. Find the equation, whose »

roots are as follows.

@ 20,28 (b) Bil , afl © 2a-B28-a

The roots of an equation are the reciprocals of the roots of the equation x* + 2ax — ¢* = 0. Find }
that equation. :

If one of the roots of the equation mx? + nx + p = 0 is twice the other root, find the relation L
between m, n and p. :

If one of the roots of the equation x* — 4px + 27 = 0 is the square of the other root, find the
value of p. ’
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L@ 56 05 ©-F-F

(d) 4,4 € -p-p 0 q¢
2

O 3L w22 4

2. (a) ®¥-3x+8=0 (b) 4 +8x+1=0
(6) 9x2—-3x-1=0 (d) ¥—ax+2%=0
&) x+(p+x+p2~-3=0
) abx?—ax+1=0

3. () T © -4F @ 5

4. (a) 14 (b) 44 © 84

O O © %

6. (8 xX¥+x+3=0 (b) 5x2-3x+1=0
€) ®+x+25=0 (d x#+11=0

7. (a ¥+6x+4=0 (b) +4x-1=0
6) ®+3x-9=0

8. c-2ax-1=0

8. 9pm=2n*
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